90

(F2, 27y = 3.2, p< .05, ES=0.35, power = 0.98)
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F ES
(89 (DF) (MS)
(A) ss, 24.80 2 12.40 8.62" 0.23
(B) ss, 43.71 9 4.86 86.03" 0.69
S 3.27 18 0.18 322" 0.35
SSva 38.84 27 1.44
SSwa 13.72 243 0.06
* P<.05
5
F ES
(S (DF) (MS)
(A) SS
1 0.85 2 0.42 2.42 0.31
2 1.72 2 0.86 468 050
3 2.86 2 1.43 6.70 0.62
4 4.13 2 2.07 8.32" 0.70
5 3.48 2 1.74 7.70 0.67
6 3.61 2 1.81 8.74 0.72
7 1.88 2 0.94 413 0.45
8 3.19 2 1.59 933 075
9 3.47 2 1.74 9.49 0.75
10 2.89 2 1.45 12.81° 0.88
42.56 270 0.16
(B) S
0% Est. (Al) 14.93 9 1.66 21.24° 1.35
100%Est. (A2) 24.21 9 2.69 71.74 251
50% Est. (A3) 7.84 9 0.87 16.21° 1.17
* 13.72 243 0.06
*P<.05
5 1
( Fe 270) = 242, p > .05, ES = 0.31) 2 10
2 O%Est.

(2.99)
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50%ESt. (3.44) 100%Est. (3.54)

3 O%ESt. (3.25)  50%ESt. (3.65)
100%ESt. (4.01) 4 O%ESL. (3.34) 50%ESL.
(3.68) 100%ESt. (4.24) 5 O%ESL.
(3.63)  SO%ESL. (3.68) 100%ESt.
(4.38) 6 O%Est. (3.40) 50%ESL.
(3.65) 100%ESt. (4.23) 7 O%ESL.
(3.73)  5O%Est. (3.84) 100%ESt.
(4.31) 8 O%Est. (3.69)  5O%Est. (3.86)
100%ESt. (4.45) 9 O%ESL. (3.82)
50%ESL. (3.86) 100%ESt. (4.56)
10 0%Est. (3.86)  5O%ES. (4.00)
100%ESt. (4.58) 2 10
5 0%ESt.  (Fo, 243 = 21.24, p

< .05 ES=1.35 power = 1.00) 100%Est.  (Fo 245 = 71.74, p < .05, ES = 2,51, power =
1.00) 50%Est. (Fe, 243 = 16.21, p < .05, ES = 1.17, power = 1.00)
O%Est.

Huynh-Feldt € 0.792 100%Est. € 4.68 S0%Est.



Huynh-Feldt e 0610 0.11
0%Est. 1 2(-0.41) 3(-0.67) 4(-0.76) 5(-1.05)
6(-0.83) 7(-1.15) 8(-1.11) 9(-1.24) 10(-1.28)
2 3(-0.26) 4(-0.35) 5(-0.64) 6(-0.42)
7(-0.74) 8(-0.7) 9(-0.83) 10(-0.87) 3
5(-0.38) 7(-0.48) 8(-0.44) 9(-0.57) 10(-0.61)
4 5(-0.29) 7(-0.39) 8(-0.35) 9(-0.48) 10(-0.52)
5 6(0.22) 7(-0.1) 8(-0.06) 9(-0.19)
10(-0.23)
6 7(-0.32) 8(-0.28) 9(-0.41) 10(-0.45)
7 8(0.04) 9(-0.09) 10(-0.13)
8 9(-0.13) 10(-0.17) 9 10(-0.04)
100%ESt. 1 2(-0.61) 3(-1.08) 4(-1.31) 5(-1.45)
6(-1.3) 7(-1.38) 8(-1.52) 9(-1.63) 10(-1.65)
2 3(-0.47) 4(-0.7) 5(-0.84) 6(-0.69) 7(-0.77)

8(-0.91) 9(-1.02) 10(-1.04) 3 4(-0.23)
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5(-0.37) 7(-0.30) 8(-0.44) 9(-0.55) 10(-0.57)

4 9(-0.32) 10(-0.34) 5 6(0.15)
9(-0.18) 10(-0.20) 6 8(-0.22)
9(-0.33) 10(-0.35) 7 9(-0.25) 10(-0.27)
8 10(-0.13) 9
10(-0.02)
50%Est. 1 2(-0.49) 3(-0.70) 4(-0.73) 5(-0.73)
6(-0.70) 7(-0.89) 8(-0.91) 9(-0.91) 10(-1.05)
2 3(-0.21) 4(-0.24) 5(-0.24) 7(-0.40)
8(-0.42) 9(-0.42) 10(-0.56) 3 7(-0.19)
8(-0.21) 10(-0.35) 4 10(-0.32)
5 8(-0.18) 10(-0.32) 6
7(-0.19) 10(-0.35) 7 8(-0.02) 9(-0.02)
10(-0.16) 8 9(0.00) 10(-0.14) 9
10(-0.14) 0%Est. 100%Est.  50%Est.



(

)
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_ @— O%Es.
—o— 100%ESt.
«—* A 5o%Es

2 -2

1
0.5 -
O v v v v v v v v v v v v v ]
1 2 3 45 6 7 8 9 10
(block =9 trials)
1-10
(F, 27 = 1.61, p> .05, ES= 0.14, power = 0.31)
(Fe, 27 = 1.76, p > .05, ES= 0.10, power = 0.25)
1 2
(Fe, 27y = 6.05, p < .05, ES= 0.40, power = 0.84)
6
100%Est. (4.48) 0%Est.

(4.06)  50%Est.



(3.94)

50%
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7
7
6
F ES
(S (DF) (MS)
(A) SS, 3.29 2 1.64 6.05 0.40
(B) S 0.03 1 0.03 1.76 0.10
SSo 0.06 2 0.03 1.61 0.14
SSya 7.34 27 0.27
SSwa 0.49 27 0.02
*P< .05
7
0%Est. 100%Est. 50%Est.
(M = 4.06) (M = 4.48) (M = 3.94)
0%Est. (M =4.06) — -0.42° 0.12
100%Est. (M = 4.48) — 0.54
50%Est. (M =3.94) —
* P<.05
90
0%Est. 8
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8 0O%Est.
0%Est.
1
1
2
1
4
1
4
1
2
1
90
100%Est. 50%Est. 9
9  100%Est. 50%Est.
100%Est. 50%Est.
4 2
2
2 1
2 1
1
1 2
1
1 1
2
7 6
1 1




100% 50%kEst.
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0%Est.
90
10
10
0% Est. 100% Est. 50% Est.

2 1
1
3 1

2

2 3 7

2 1

2
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10
100%Est.
0%Est. 50%Est. (
90
11
11
0% Est. 100% Est.  50% Est.

10 10 10
2
1
1

3 2 2

1 1 4

3 1 2

4

4 4 3

1
1

2

1

8 6 7

2 1 1
2 2
2 1




11

100%

50%
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